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overview of 2 photo BBA problem



img_dat
id   xl       yl       xr       yr
------------------------------------
1 -78.882  -88.126  -54.736  -52.270
2   1.440  -66.953   -2.518  -64.203
3  56.262  -55.012   76.337  -85.798
4 -84.802   -4.189  -55.011    3.098
5  -1.466    1.971    1.808    3.294
6  49.164    3.573   75.389    0.276
7 -82.174   75.574  -51.392   59.846
8  -6.732   64.609   -0.533   68.499
9  48.872   56.913   86.001   84.036
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XY plot of ground points
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xy plot of left image points
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xy plot of right image points


